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1. Ogpegm ro npomssoaoT

a) 24- 10 = 6)(-37) -10=
B) 56-100 = r) (-98) -100=
£)(-6,6)-10 = f) 38,97-10 =
e) 6,41-100 = %) (-2,58) - 1000 =

2. Ogpean ro KOANYHUKOT:

a) 79:10 = 6) -85:10 =

B) 43,28:10 = r) -54,39:10 =

£) 87,23:100 = f) -84,33:1000 =
e) -662,3:1000 = %) 536,42:1000 =

3. I'Ipecrv\eTaj, CO 3a0KpyXKyBakb€ Ha €AHNOT MHOXUTEN Ha AEeKaaHA eanHULa

a) (+28) - (-64) = 6) (+82) - (+51) =

B)(+52) - (+22) = r)(-38) - (+84) =

4.MpecmeTaj , CO KOpUCTEHE Ha AeKagHa eguHMua

a) (-84) - 60= 6)29-(-70) =

B) 80-64 = r) (-94) - (-60) =
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